48 2¢9(¥)

1(9.13)
1(9.13)

A
F(2{Al0h)
FMIH1Z)

701.3
90.1
469
20.1

625.1

0.6

08
187
124.4

39

48 1€(E)
LA/ LA
LA/ A

- HY

(5.6.10.13.17.18)
N

(5.6.13.15.18.

(5.6.13))

(A0
(M412)

H
H

=L A/=H
S A/ L

(A0
(M412)

S A/ A
LA/ A
H

A| U AOFHF A|Z

I.

L

A

A

(M412)

H

=/

 2|2H(15~30%)

A

(2A]0h)
(MH1Z)
(7~20%)

H

A/
|
TEr

4kcal, A& Ikcal 2

A

F(MIHZ)

Hi

=AU

100
615
19.1
19.4
235.6
05
0.6
138
181.0
44
* Ol A| = HYHHT +£10%, F/GH| = H4eh2(55-70%)

3t= 4kcal,
HAURE F2UNA| Y

=
=3
2|17/t 35
73047
19.32
219.61
037
041
33.40
267.00
470

ol

e
Ef/7F
/7125
20l/71 3 E

£2/3
o
23]
H| 10

19.32

0.31

0.34

26.70

3.70

07|/7+3
H2/7t8F
ZA/I7MEE
151.94
23400

2|27/t 3F

[=13

a1

H27|(ZRIIBE

(a)
HlEfRl
A(R.E)

(mg)
HlEfRl
C(mg)

(mg)

3

0|4 Z| (kcal)| 730.47
BT

* 19 0|4 2| (kcal)
+2EEY

E{0{2l(mg)
HE(mg)

o4

Ei

=

=

OHF @27 QUL @ OHF OL DL @7 QML @HZ 17| =50t @EDLE @otEHiY @2F @HL7| @417 @Y @R (=

Y2 HE



